Subtract 130 cm from 6.2 m.

Give your answer in cm.

Complete the number sentence using <, > or =

2000 g Q 2 kg

How many edges does a square based pyramid have?

Write the number 345 in Roman Numerals.




Subtract 130 cm from 6.2 m.

Give your answer in cm. 490 cm

Complete the number sentence using <, > or =

2000 g @ 2 kg

How many edges does a square based pyramid have? 8

Write the number 345 in Roman Numerals. CCCXLV




| inch = 2.5 cm.

Roughly how many cm is 20 inches?

Fill in the missing number-

|
2m—+-m= mm

I.|

Draw an irregular hexagon.

Complete the number sentence using <, > or =:

374 Qs.m




| inch = 2.5 cm.

Roughly how many cm is 20 inches?

Fill in the missing number-

2m+qm= 2,250 mm

Draw an irregular hexagon.  Any hexagon except .

Complete the number sentence using <, > or =:

374 @3.7|L|




